# On fuzzy pairwise irresolute mappings

## Kuo-Douk Park and Young-Bin Im\*

Department of Mathematics, Dongguk University \*Department of Mathematics, Seonam University

#### **ABSTRACT**

In this paper, we further investigate some proterties of fuzzy pairwise irresolute mappings on fuzzy bitopological spaces.

#### 1. Introduction

Kandil [6] introduced and studied a fuzzy bitopological space as a natural generalization of a fuzzy topological space. Sampath Kumar [10] defined and investigated a  $(T_i, T_j)$ -fuzzy semiopen  $((T_i, T_j)$ -fuzzy semiclosed) set, a  $(T_i, T_j)$ -semi-interior  $((T_i, T_j)$ -semi-closure) and a fuzzy pairwise semicontinuous mapping on fuzzy bitopological spaces. Recently, Park *et al.*[9] defined a fuzzy pairwise irresolute mapping on fuzzy bitopological spaces, and showed us that every fuzzy pairwise irresolute mapping is a fuzzy pairwise semicontinuous mapping, but the converse is not true in general.

In this paper, we further investigate some properties of fuzzy pairwise irresolute mappings on fuzzy bitopological spaces. We also show that a fuzzy pairwise continuous mapping and a fuzzy pairwise irresolute mapping do not have any specific relations.

#### 2. Preliminaries

A system  $(X, T_1, T_2)$  consisting of a set X with two fuzzy topologies  $T_1$  and  $T_2$  on X is called a **fuzzy bitopological space** [fbts for shorts] [6]. Throughout this paper, the indices i, j take values in  $\{1, 2\}$  with  $i \neq j$ . For a fuzzy set  $\mu$  in a fbts  $(X, T_1, T_2)$ ,  $T_i$ -fo set  $\mu$  and  $T_j$ -fuzzy open set  $\mu$  and  $T_j$ -fuzzy closed set  $\mu$  respectively. Also,  $T_i$ -Int $\mu$  and  $T_j$ -Cl $\mu$  mean the interior and closure of  $\mu$  for the fuzzy topologies  $T_i$  and  $T_j$  respectively.

**Definition 2.1 [10]** Let  $\mu$  be a fuzzy set of a *fbts X*. Then  $\mu$  is called;

(i) a  $(T_i, T_j)$ -fuzzy semiopen  $[(T_i, T_j)$ -fso] set of X if there exists a  $T_r fo$  set v of X such that  $v \le \mu \le T_r C lv$ ,

(ii) a ( $T_i$ ,  $T_j$ )-fuzzy semiclosed [ $(T_i, T_j)$ -fsc] set of X if there exists a  $T_C fc$  set V of X such that  $T_C Int V \le \mu \le V$ .

**Lemma 2.2 [10]** Let  $\mu$  be a fuzzy set of a *fbts X*. Then the following statements are equivalent:

- (i)  $\mu$  is a  $(T_i, T_i)$ -fsc set.
- (ii)  $\mu^c$  is a  $(T_i, T_i)$ -fso set.
- (iii)  $T_i$ -Int( $T_i$ -Cl $\mu$ )  $\leq \mu$ .
- (iv)  $T_i$ -Cl $(T_i$ -Int $(\mu^c)$ ) $\geq \mu^c$ .

**Theorem 2.3 [10]** (i) Any union of  $(T_i, T_j)$ -fso sets is a  $(T_i, T_j)$ -fso set.

(ii) Any intersection of  $(T_i, T_j)$ -fsc sets is a  $(T_i, T_j)$ -fsc set.

It is clear that every  $T_{i,r}fo$  (respectively  $T_{i,r}fc$ ) set is a  $(T_i, T_j)$ -fso (respectively  $(T_i, T_j)$ -fsc) set, but the converse need not be true. The intersection (respectively union) of any two  $(T_i, T_j)$ -fso (respectively  $(T_i, T_j)$ -fsc) sets needs not be a  $(T_i, T_j)$ -fso (respectively  $(T_i, T_j)$ -fsc) set. Even the intersection (respectively union) of a  $(T_i, T_j)$ -fso (respectively  $(T_i, T_j)$ -fso (respectively  $(T_i, T_j)$ -fso) set may fail to be a  $(T_i, T_j)$ -fso (respectively  $(T_i, T_j)$ -fsc) set [10].

**Theorem 2.4 [10]** Let  $\mu$  and  $\nu$  be two fuzzy sets of a *fbts X*.

- (i) If  $\mu$  is a  $(T_i, T_j)$ -fso set and  $T_i$ -Int $\mu \le v \le T_j$ -Cl $\mu$ , then v is a  $(T_i, T_i)$ -fso set.
- (ii) If  $\mu$  is a  $(T_i, T_j)$ -fsc set and  $T_j$ -Int $\mu \le v \le T_r$ -Cl $\mu$ , then v is a  $(T_i, T_j)$ -fsc set.

**Theorem 2.5 [10]** Let  $\mu$  be a fuzzy set of a *fbts X*. Then  $\mu$  is a  $(T_i, T_j)$ -fso set if and only if there exists a  $(T_i, T_j)$ -fso set  $v_{x_{\omega}}$  such that  $x_{\omega} \in v_{x_{\omega}} \le \mu$  for every fuzzy point  $x_{\omega}$  in  $\mu$ .

**Definition 2.6 [10]** Let  $\mu$  be a fuzzy set of a *fbts X*.

(i) The  $(T_i, T_j)$ -semi-interior of  $\mu$   $[(T_i, T_j)$ -sInt $\mu$ ] is defined by

$$(T_i, T_i)$$
-sInt $\mu = \sup\{v \mid v \le \mu, v \text{ is a } (T_i, T_i)$ -fso set $\}$ .

(ii) The  $(T_i, T_j)$ -semi-closure of  $\mu$   $[(T_i, T_j)$ -sCl $\mu$ )] is defined by

$$(T_i, T_i)$$
-sCl $\mu = \inf\{v \mid v \ge \mu, v \text{ is a } (T_i, T_i)\text{-}fsc \text{ set}\}.$ 

From Lemma 2.2 and Theorem 2.3, we have the following obvious facts.

 $(T_i, T_j)$ -slnt  $\mu$  is the greatest  $(T_i, T_j)$ -fso set which is contained in  $\mu$  and  $(T_i, T_j)$ -sCl $\mu$  is the lowest  $(T_i, T_j)$ -fsc set which contains  $\mu$ , and we have,

$$T_i$$
-Int  $\mu \leq (T_i, T_i)$ -sInt  $\mu \leq \mu \leq (T_i, T_i)$ -sCl $\mu \leq T_i$ -Cl $\mu$ .

If  $\mu \leq \nu$ , then

 $(T_i, T_j)$ -sInt  $\mu \le (T_i, T_j)$ -sInt  $\nu$  and  $(T_i, T_j)$ -sCl $\mu \le (T_i, T_j)$ -sCl $\nu$ .

In addition to those facts,  $\mu$  is a  $(T_i, T_j)$ -fso set if and only if  $\mu = (T_i, T_j)$ -sInt  $\mu$ , and  $\mu$  is a  $(T_i, T_j)$ -fsc set if and only if  $\mu = (T_i, T_j)$ -sCl $\mu$ .

## 3. Fuzzy pairwise irresolute mapping

**Definition 3.1 [1]** Let  $f: (X, T_1, T_2) \rightarrow (Y, T_1^*, T_2^*)$  be a mapping. Then f is called a **fuzzy pairwise continuous** [fpc] **mapping** if the induced mappings  $f: (X, T_k) \rightarrow (Y, T_k^*)$  (k = 1, 2) are fuzzy continuous mappings.

**Definition 3.2 [10]** Let  $f: (X, T_1, T_2) \rightarrow (Y, T_1^*, T_2^*)$  be a mapping. Then f is called a **fuzzy pairwise semicontinuous** [fpsc] **mapping** if  $f^1(v)$  is a  $(T_i, T_j)$ -fso set of X for each  $T_i^*$ -fo set v of Y.

**Definition 3.3 [9]** Let  $f: (X, T_1, T_2) \to (Y, T_1^*, T_2^*)$  be a mapping. Then f is called a **fuzzy pairwise irresolute** [fpi] **mapping** if  $f^{-1}(v)$  is a  $(T_i, T_j)$ -fso set of X for each  $(T_i^*, T_j^*)$ -fso set v of Y.

From the above definitions, we show that every *fpc* is *fpsc*. But the converse is not true in general [10]. Also, every *fpi* is *fpsc* but the converse is not true in general [9].

**Example 3.4.** Let  $\mu_1$ ,  $\mu_2$  and  $\mu_3$  be fuzzy sets of  $X = \{a, b, c\}$  and let  $v_1$  and  $v_2$  be a fuzzy set of  $Y = \{x, y, z\}$ , defined as follows;

$$\mu_1(a) = 1, \ \mu_1(b) = 0.7, \ \mu_1(c) = 0.8,$$

$$\mu_2(a) = 0, \ \mu_2(b) = 0.2, \ \mu_2(c) = 0.2, 
\mu_3(a) = 0, \ \mu_3(b) = 0.3, \ \mu_3(c) = 0.3, 
v_1(x) = 0, \ v_1(y) = 0.2, \ v_1(z) = 0.5, 
v_2(x) = 0, \ v_2(y) = 0.3, \ v_2(z) = 0.5.$$

Consider fuzzy topologies  $T_1 = \{0_X, \mu_2, 1_X\}, T_2 = \{0_X, \mu_1, \mu_2, \mu_3, 1_X\}, T_1^* = \{0_Y, v_1, 1_Y\} \text{ and } T_2^* = \{0_Y, v_2, 1_Y\}.$  Define  $f: (X, T_1, T_2) \rightarrow (Y, T_1^*, T_2^*) \text{ by } f(a) = x, f(b) = y, f(c) = y$ . Then f is a fpsc (in fact, fpc). On the other hand,  $v_2$  is a  $(T_1^*, T_2^*)$ -fso set, but  $f^{-1}(v_2)$  is not a  $(T_1, T_2)$ -fso set. Thus f is not a fpi.

**Exmple 3.5.** Let  $\mu_1$ ,  $\mu_2$  and  $\mu_3$  be fuzzy sets of  $X = \{a, b, c\}$ , defined as follows;

$$\mu_1(a) = 1$$
,  $\mu_1(b) = 0.7$ ,  $\mu_1(c) = 0.8$ ,  $\mu_2(a) = 0.9$ ,  $\mu_2(b) = 0.6$ ,  $\mu_2(c) = 0.7$ ,  $\mu_3(a) = 0.1$ ,  $\mu_3(b) = 0.4$ ,  $\mu_3(c) = 0.5$ .

Consider fuzzy topologies  $T_1 = \{0_X, \mu_3, 1_X\}, T_2 = \{0_X, \mu_2, 1_X\}, T_1^* = \{0_X, \mu_1, \mu_2, 1_X\} \text{ and } T_2^* = \{0_X, \mu_2, 1_X\}.$  Then identity mapping  $i_X : (X, T_1, T_2) \rightarrow (Y, T_1^*, T_2^*)$  is a *fpi*, but  $i_X$  is not a *fpc*.  $\square$ 

Example 3.4 and 3.5 show that fpc and fpi do not have any specific relations.

**Theorem 3.6.** Let  $f: (X, T_1, T_2) \rightarrow (Y, T_1^*, T_2^*)$  be a mapping. Then the following statements are equivalent:

- (i) *f* is *fpi*.
- (ii) For each fuzzy point  $x_{\omega}$  in X and each  $(T_i^*, T_j^*)$ -fso set v of Y containing  $f(x_{\omega})$ , there exists a  $(T_i, T_j)$ -fsoset  $\mu$  of X containing  $x_{\omega}$  such that  $f(\mu) \leq v$ .
- (iii) The inverse image of each  $(T_i^*, T_j^*)$ -fsc set of Y is a  $(T_i, T_i)$ -fsc set of X.
- (iv)  $f^{-1}(\lambda) \ge T_j$ -Int( $T_i$ -Cl( $f^{-1}(\lambda)$ )) for each ( $T_i^*$ ,  $T_j^*$ )-fsc set  $\lambda$  of Y.
- (v)  $f^{-1}(v) \le T_j$ -Cl( $T_i$ -Int( $f^{-1}(v)$ )) for each  $(T_i^*, T_j^*)$ -fso set v of Y.

**Proof.** (i) implies (ii): Since f is fpi and v is a  $(T_i^*, T_j^*)$ -fso set of Y containing  $f(x_\omega)$ ,  $f^{-1}(v)$  is a  $(T_b, T_j)$ -fso set of X. Let  $\mu = f^{-1}(v)$ . Then  $\mu$  is a  $(T_b, T_j)$ -fso set of X containing  $x_\omega$  and  $f(\mu) \le v$ .

(ii) implies (i): Let v be a  $(T_i^*, T_j^*)$ -fso set of Y. Then  $f^{-1}(v)$  is a fuzzy set of X. If  $x_\omega \in f^{-1}(v)$ , then  $f(x_\omega) \in v$ . Hence there exists a  $(T_i, T_j)$ -fso set  $\mu_{x_\omega}$  of X such that  $x_\omega \in \mu_{x_\omega}$  and  $f(\mu_{x_\omega}) \le v$ . That is,  $x_\omega \in \mu_{x_\omega} \le f^{-1}(v)$ . Thus we have,

$$f^{-1}(v) = \bigvee \{x_{\omega} \mid x_{\omega} \in f^{-1}(v)\} \le \bigvee \{\mu_{x_{\omega}} \mid x_{\omega} \in f^{-1}(v)\}$$
  
  $\le f^{-1}(v).$ 

Consequently  $f^{-1}(v) = \bigvee \{ \mu_{x_{\omega}} | x_{\omega} \in f^{-1}(v) \}$ . Therefore,  $f^{-1}(v)$  is a  $(T_i, T_i)$ -fso set.

- (i) implies (iii): Let v be a  $(T_i^*, T_j^*)$ -fsc set of Y. Then  $v^c$  is a  $(T_i^*, T_j^*)$ -fso set of Y. Hence  $f^{-1}(v^c)$  is a  $(T_i, T_j)$ -fso set of X. But  $f^{-1}(v^c) = (f^{-1}(v))^c$ . Therefore,  $f^{-1}(v)$  is a  $(T_i, T_j)$ -fsc set of X.
- (iii) implies (iv): Let  $\lambda$  be a  $(T_i^*, T_j^*)$ -fsc set of Y. Then  $f^{-1}(\lambda)$  is a  $(T_i, T_j)$ -fsc set of X. Hence by Lemma 2.2,  $f^{-1}(\lambda) \ge T_j$ -Int $(T_j$ -Cl $(f^{-1}(\lambda))$ ).
  - (iv) implies (v): Obvious.
- (v) implies (i): Let v be a  $(T_i^*, T_j^*)$ -fso set of Y. Then  $f^{-1}(v) \le T_r$ - $Cl(T_r$ - $Int(f^{-1}(v))$ ). Hence by Lemma 2.2,  $f^{-1}(v)$  is a  $(T_i, T_j)$ -fso set of X. Therefore, f is fpi.  $\square$

**Theorem 3.7 [9]** A mapping  $f: (X, T_1, T_2) \rightarrow (Y, T_1^*, T_2^*)$  is fpi if and only if  $f((T_i, T_j)\text{-sCl}\mu) \leq (T_i^*, T_j^*)\text{-sCl}(f(\mu))$  for each fuzzy set  $\mu$  of X.

**Proof.** Let  $\mu$  be any fuzzy set of X. Then  $(T_i^*, T_j^*)$ - $sCl(f(\mu))$  is a  $(T_i^*, T_j^*)$ -fsc set of Y. Thus  $f^{-1}((T_i^*, T_j^*)$ - $sCl(f(\mu))$ ) is a  $(T_i, T_j)$ -fsc set of X. Now,  $f(\mu) \le (T_i^*, T_j^*)$ - $sCl(f(\mu))$ . Furthermore,  $\mu \le f^{-1}(f(\mu)) \le f^{-1}((T_i^*, T_j^*)$ - $sCl(f(\mu))$ ). Therefore,

$$(T_i, T_j)$$
-sC $\mu \le (T_i, T_j)$ -sCl $(f^{-1}((T_i^*, T_j^*)$ -sCl $(f(\mu))))$   
=  $f^{-1}((T_i^*, T_j^*)$ -sCl $(f(\mu)))$ .

This implies that

$$f((T_i, T_j)\text{-sCl}\mu) \le f(f^{-1}((T_i^*, T_j^*)\text{-sCl}(f(\mu))))$$
  
  $\le (T_i^*, T_j^*)\text{-sCl}(f(\mu)).$ 

Conversely, let v be a  $(T_i^*, T_j^*)$ -fsc set of Y and  $\mu = f^{-1}(v)$ . Then

$$f((T_{i}, T_{j})-sCl\mu) \leq (T_{i}^{*}, T_{j}^{*})-sCl(f(\mu))$$

$$= (T_{i}^{*}, T_{j}^{*})-sCl(f(f^{1}(v)))$$

$$\leq (T_{i}^{*}, T_{j}^{*})-sClv$$

$$= v.$$

Thus  $f^{-1}(f((T_i, T_j)-sCl\mu)) \le f^{-1}(v) = \mu$  and  $(T_i, T_j)-sCl\mu \le f^{-1}(f((T_i, T_j)-sCl\mu)) \le \mu$ .

Hence  $(T_i, T_j)$ -sCl $\mu = \mu = f^{-1}(v)$ . Therefore,  $\mu$  is a  $(T_i, T_j)$ -fsc set of X. And consequently f is fpi.

**Theorem 3.8.** A mapping  $f: (X, T_1, T_2) \rightarrow (Y, T_1^*, T_2^*)$  is fpi if and only if  $(T_i, T_j)$ -sCl $(f^{-1}(v)) \leq f^{-1}((T_i^*, T_j^*)$ -sClv) for each fuzzy set v of Y.

**Proof.** Let v be any fuzzy set of Y. Then  $f^{-1}(v)$  is a fuzzy set of X. Hence by Theorem 3.6,  $f((T_i, T_i)\text{-sCl}(f^{-1}(v))) \leq (T_i^*, T_i^*)\text{-sCl}(f(f^{-1}(v)))$ .

Therefore,

$$(T_i, T_j)\text{-sCl}(f^{-1}(v)) \le f^{-1}(f((T_i, T_j)\text{-sCl}(f^{-1}(v))))$$
  
$$\le f^{-1}((T_i^*, T_j^*)\text{-sCl}(f(f^{-1}(v))))$$
  
$$\le f^{-1}((T_i^*, T_j^*)\text{-sCl}v).$$

Conversely, let  $\mu$  be any fuzzy set of X. Then  $f(\mu)$  is a fuzzy set of Y, and

$$(T_i, T_i)$$
-sCl $(f^{-1}(f(\mu))) \le f^{-1}((T_i^*, T_i^*)$ -sCl $(f(\mu)))$ .

Hence

$$f((T_i, T_j)\text{-sCl}(f^{-1}(f(\mu)))) \le f(f^{-1}((T_i^*, T_j^*)\text{-sCl}(f(\mu))))$$
  
 
$$\le (T_i^*, T_j^*)\text{-sCl}(f(\mu)).$$

Therefore,

$$f((T_i, T_j)\text{-sCl}(\mu) \le f((T_i, T_j)\text{-sCl}(f^{-1}(f(\mu))))$$
  
$$\le (T_i^*, T_j^*)\text{-sCl}(f(\mu)).$$

Consequently, by Theorem 3.7, f is fpi.

**Theorem 3.9.** A mapping  $f: (X, T_1, T_2) \rightarrow (Y, T_1^*, T_2^*)$  is fpi if and only if  $f^{-1}((T_i^*, T_j^*)\text{-sInt}v) \leq (T_i, T_j)\text{-sInt}(f^{-1}(v))$  for every fuzzy set v of Y.

**Proof.** Let v be any fuzzy set of Y. Then  $(T_i^*, T_j^*)$ -slntv is a  $(T_i^*, T_j^*)$ -fso set of Y. Clearly  $f^{-1}((T_i^*, T_j^*)$ -slntv) is a  $(T_i, T_i)$ -fso set of X and we have.

$$f^{-1}((T_i^*, T_j^*)\text{-sInt}\nu) = (T_i, T_j)\text{-sInt}(f^{-1}((T_i^*, T_j^*)\text{-sInt}\nu))$$
  

$$\leq (T_i, T_j)\text{-sInt}(f^{-1}(\nu)).$$

Conversely, let v be a  $(T_i^*, T_j^*)$ -fso set of Y. Then  $(T_i^*, T_i^*)$ -sIntv = v and

$$f^{-1}(v) = f^{-1}((T_i^*, T_j^*)-\operatorname{sInt} v) \le (T_i, T_j)-\operatorname{sInt}(f^{-1}(v)).$$

Hence  $f^{-1}(v) = (T_i, T_j)$ -sInt $(f^{-1}(v))$ . Therefore,  $f^{-1}(v)$  is a  $(T_i, T_j)$ -fso set. And consequently f is fpi.

**Theorem 3.10.** Let  $f: (X, T_1, T_2) \to (Y, T_1^*, T_2^*)$  be a bijective mapping. Then f is a fpi mapping if and only if for every fuzzy set  $\mu$  of  $X(T_i^*, T_j^*)$ -slnt( $f(\mu)$ )  $\leq f((T_i, T_j)$ -slnt  $\mu$ ).

**proof.** Let  $\mu$  be any fuzzy set of X. Then  $f(\mu)$  is a fuzzy set of Y. Then by Theorem 3.9,

$$f^{-1}((T_i^*, T_j^*)-\operatorname{sInt}(f(\mu))) \leq (T_i, T_j)-\operatorname{sInt}(f^{-1}(f(\mu))).$$

Since f is bijective,

$$(T_i^*, T_j^*)$$
-sInt $(f(\mu)) = f(f^{-1}((T_i^*, T_j^*)$ -sInt $(f(\mu))))$   
 $\leq f((T_i, T_j)$ -sInt $(f^{-1}(f(\mu))))$   
 $= f((T_i, T_j)$ -sInt  $\mu)$ .

Conversely, let v be a  $(T_i^*, T_j^*)$ -fso set of Y. Then  $(T_i^*, T_j^*)$ - $\operatorname{sInt}(f(f^{-1}(v))) \le f((T_i, T_j))$ - $\operatorname{sInt}(f^{-1}(v))$ . Since f is bijective,  $(T_i^*, T_j^*)$ - $\operatorname{sInt}(v) \le f((T_i, T_j))$ - $\operatorname{sInt}(v)$ - $\operatorname{sInt}(v$   $sInt(f^{-1}(v)).$ 

This implies that  $f^{-1}(T_i^*, T_j^*)\text{-sInt}(v) \le f^{-1}(f((T_i, T_j)\text{-sInt}(f^{-1}(v))))$ =  $(T_i, T_j)\text{-sInt}(f^{-1}(v))$ .

Therefore, by Theorem 3.9, f is fpi.

#### References

- A. S. Abu Safiya, A. A. Fora and M. W. Warner, Fuzzy separation axioms and fuzzy continuity in fuzzy bitopological spaces, *Fuzzy Sets and Systems*, vol. 62, pp. 367-373, 1994.
- [2] K. K. Azad, On fuzzy semicontinuity, fuzzy almost continuity and fuzzy weakly continuity, *J. Math. Anal. Appl.* vol. 82, pp. 14-32, 1981.
- [3] A. S. Bin Shahna, On fuzzy strong semicontinuity and fuzzy precontinuity, *Fuzzy Sets and Systems*, vol. 44 pp. 303-308, 1991.
- [4] S. Ganguly and S. Saha, A note on semi-open sets in fuzzy topological spaces, *Fuzzy Sets and Systems*, vol 18, pp. 83-96, 1986.
- [5] B. Ghosh, Semi-continuous and semiclosed mappings and semiconnectedness in fuzzy setting, Fuzzy Sets and Systems, vol. 35, pp. 345-355, 1990.
- [6] A. Kandil, Biproximities and fuzzy bitopological

- spaces, Simon Steven, vol. 63, pp. 45-66, 1989.
- [7] M. N. Mukherjee and S. P. Sinha, Irresolute and almost open functions between fuzzy topological spaces, Fuzzy Sets and Systems, vol. 29. pp. 381-388, 1980
- [8] \_\_\_\_\_, On some weaker forms of fuzzy continuous and fuzzy open mappings on topological spaces, Fuzzy Sets and Systems, vol. 32, pp. 103-114, 1989.
- [9] J. H. Park, M. J. Son and B. Y. Lee, Pairwise fuzzy sclosed bitopological spaces, Far East J. Math. Sci. Special pp. 89-104, 1997.
- [10] S. Sampath Kumar, Semi-open sets, semi-continuity and semi-open mappings in fuzzy bitopological spaces, Fuzzy Sets and Systems, vol. 64, pp. 421-426, 1994
- [11] T. H. Yalvac, Semi-interior and semi-closure of a fuzzy set, J. Math. Anal. Appl. vol. 132, pp. 356-364, 1988

## 박거덕 (Kuo-Douk Park) 정회원

제 8권 4호 참조

현재 : 동국대학교 수학과

### 임 영 빈 (Young-Bin Im) 정회원

제 8권 4호 참조

현재 : 서남대학교 수학과